Exam. Code : 103203
Subject Code : 1016

B.A/B.Sc. 3™ Semester (Batch 2022-25)
ECONOMICS

(Indian Economy)

Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

1. Discuss various features of agriculture in Indian economy.
What are the reasons of decline in its productivity ?

20

-2. Discuss the advantages and the fall-outs of the green

revolution in India. 20
SECTION—B

3. What is the importance of industrial development ? What
problems India has been facing in its industrial growth ?

20

4. Discuss the problems of the small and cottage industry in
India. 20
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SECTION—C
5. What do you mean by direction of trade ? Discuss the
changes in direction of imports and exports by India

since 1991. 20
6. Discuss the role of the multinational corporations in the
economic development of India. 20
SECTION—D
7. Discuss the causes and consequences of inflation in India.
How price stability can be achieved ? 20
8. Critically examine the current tax structure in India. How
can it be improved ? 20
(Punjabi Version)
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Fxam. Code : 103203
Subject Code: 1073

B.A./B.Sc. 3 Semester (Batch 2022-25)
ENVIRONMENTAL STUDIES
Paper—ESL-221

Time Allowed—3 Hours] [Maximum Marks—75

Note :— Attempt FIVE questions in all, selecting at least

ro

)

ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

Define environment. Explain multidisciplinary nature of

environmental studies.

Explain land as a resource. Give reasons for land degradation,
man induced landslides and soil erosion. What are their

management strategies ?
SECTION—B

Write a note on types, characteristic features, structure

and functions of forest ecosystem.

Define biodiversity. What are the various threats to

biodiversity ? Explain various methods of conservation
of biodiversity.
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SECTION—C

. What are natural disasters ? Explain various strategies to

manage natural disasters.
6. Explain Air (Prevention and Control of Pollution) Act,
1981. Explain various issues involved in enforcement of

environmental legislation in India.
SECTION—D
7. Write a note on population explosion and family welfare

programme of India.

8.  Write a note on human rights and need of value education

for environment protection.
(Punjabi Version)
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Exam. Code : 103203
Subject Code : 1026

B.A./B.Sc. 37 Semester (Batch 2022-25)

MATHEMATICS (Analysis)
Paper—I

Time Allowed—3 Hours] [Maximum Marks—50

Note :—Attempt FIVE questions in all, selecting at least

1. (a)

(b)

(b)

ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

If {a} and {b} are two sequences such that
lima = aand lim b_= b, then show that

lim(a +b)=1Ilima £b =a<bh.
Prove that a monotonic sequence converges if

and only if it is bounded.

If }i_{rjoan =1, then prove that

lim(a‘ +a, +....+an] I

n—ow
n

Define a sequence. Prove that every convergent
sequence is bounded and has a unique limit.
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(a)

(b)

(a)

(b)

(a)

(b)

SECTION—B

: __1__2__ o T 03 LARTEEE is
Show that the series 33,2 © 52 6° 72 R=

convergent.

Show that the series Z(l/ﬂp) converges if

p > 1, and diverges if p< 1.

Show that every absolutely convergent Series is

convergent.

Test the convergence of the series

23 (20—1) -1
Z P 20 x"', x>0.

SECTION—C

Prove that a bounded function is integrable on
[a, b] if and only if for every € > 0 there exists
a partition P of [a, b] such that

U(P, f) - L(P, f) < €.
Show that if a function f is monotonic on [a, b},
then it is integrable on [a, b].

Let f, and f, be two bounded and integrable functions
on [a, b]. Prove that f = f —f is also integrable on

[a, b] and ifdx=ifl dx—ifl dx.

139(2123)/!H-12973 2
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SECTION-—D
7. (a) Examine the converpence of the integrals

"

Isinxdx and Ix‘c “dx.
) ]

(b) Find the value of m and n for which the integral

Ic " x"dx converges.
0

. [
8.  Show that [}(m, n) = l— (‘m) (n) wherem ~ 0, n >~ 0,
['(m+n)
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fxam. Code & 103203
Subject Code : 1035

B.A./B.Sc. 3™ Semester (Batch 2022-25)
QUANTITATIVE TECHNIQUES
(Quantitative Techniques—III)

Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A
1. (a) Explain the steps to find maxima/minima.

(b) Find first order and second order partial derivatives
of the function

u = x* — 5xy* + 6x> + 2xz? — XyZ.
10+10=20

2. (a) Show that the maximum value of the function
y =x>—27x + 108 is 108 more than the minimum

value.
(b) Find the extreme values of the function :
y =x3—27x + 108. 10+10=20
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(a)

(b)

If the supply curve of a commodity 1S P =
the quantity sold is 7 units. Find the pr

(a)

(b)

(a)

(b)

SECTION—B

Evaluate : J.x" logx dx .
log X _
Eval . [ —=——dx. 10+10=20
valuate (1+log %)’

79+ x and

oducer’s surplus.
20

SECTION—C
What do you mean by determinant of a matrix ?

Also discuss the important properties of

determinants.
Solve the following system of equations by

Crammer’s rule :

2z+4y—z=9

3x +y+2z=7

x+3y—3z=4 10+10=20
What do you mean by rank of a matrix ? Explain
with the help of a hypothetical example.

2
Obtain the inverse of the matrix : |3 1 2
1

-8366
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ia)

ibp

(2)

(b)

SECTION—D
Explain the main uses of input-output analysis.
Given the following Technological coefficient
Imatrix -

Swel | Coal | Final Deand,

Steel | 04 0.1 | 50
Coal | 07 0.6 % 100
Labour | 5 2 |
Find :
(i) Gross Output

(ii) Total Labour Days Required

(iii) Find equilibrium prices, if wage ratlc is
Rs. 10 per man day. 5+15=20

What are artificial variables 7 What is the economic

interpretation of artificial variables when

incorporated in LPP ?

Solve the following LPP by graphical method :

Maximize Z = 2x, — 3X,

subject o
4x + 5x, <= 40
x +3x, <=12
x, - %> =2
xl>=4;xpxz>=0 5+15=20
3494

1382123) TH-8366 3




Exam. Code : 103203
Subject Code : 1027

B.A./B.Sc. 3" Semester (Batch 2022-25)

MATHEMATICS
Paper—II
(Analytic Geometry)

Time Allowed—3 Hours] [Maximum Marks—50

Note :—Attempt FIVE questions in all, selecting at least

(b)

ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A
Transform the equation
12x> + 7Txy — 12y* - 17x =31y -7 =0
first parallel to axes thrqugh (1, —1) then to the

4
axes inclined at an angle tan™ E-to the original

axces.

Find the equation of the lines joining the origin
to the points of intersection of linex +y—-1=0
with the curve 4x? + 4y + 4x — 2y — 5 = 0 and
show that they are Orthogonal.
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2.

(a)

(b)

(a)

(b)
()

(b)

Reduce the equation

x? + 7y* + z2 + 8yz + 16zx — 8xy — 9 =0

by taking the lines joining the origin to the points
1, 2, 2), (2, -2, 1), (2, 1, =2) as axes.

If ax? + by? + cz? + 2fyz + 2hxy + 2gzx + 2ux
+ 2vy + 2wz + d be transformed by change of co-
ordinates from one set of rectangular axes to another
set with the same origin, then show that the
expression a + b + ¢, u? + v + W’ remains

unaltered in value.
SECTION—B

Prove that locus of points such that two of the
three normal from them to parabola y* = 4ax,
coincide is 27ay? = 4(x — 2a)’.

Find the locus of poles of normal chord of parabola.
Show that the area of the triangle by three points

on parabola is twice the area of triangle formed
by tangents at vertices points.

Prove that locus of the poles of chords of parabola
y? = 4ax which subtends constant angle o at vertex
is curve (x + 4a)’ = 4(y? — 4ax) cot’a.
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SECTION—C

5. (a) Identify the conic
x? — 6xy + y* — 10x — 10y = 19 = 0.
Find its foci and eccentricity (if possible).

(b) Show that the condition that the line
Ix + my + n = 0 is normal to the ellipse
X2 y2 aZ bZ (aZ . b2)2
Y :

+ i) I8 b —5=
a bz 32 mZ n2

2 2
6. (a) For the ellipse x_2 + %; =1, show that the chord
a

joining points 6, and 6, is

Ef.:os-——e‘-"e’2 +—Xsin——el+92 =
a 2 b

(b) Find the locus of middle points of chords of an
ellipse which subtends right angle at centre.

SECTION—D

7. (a) A sphere of constant radius r passes through the
origin O and meets the co-ordinate in A, B and
C. Find the locus of the foot of perpendicular
from O to the plane ABC.
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(b)

(b)

Define the angle of intersection of two spheres.
Find the condition that the spheres

x2+y?+zZ2+2ux +2vy +2wz+ d, =0 and
x2+yr+ 22+ 2ux +2v,y2wz +d, =0

may cut at right angle.
Showthatplanesax+hy+cz=0,hx+by+fz=0

and gx + fy + cz = 0 has common line of intersection

a h g
if A=lh b f|=0.
g f ¢

Prove that three planes 2x + y + z = 3,

- X—y+2z=4and x + z=2 form a regular prism

and find the area of normal section of prism.
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Exam. Code : 103203
Subject Code: 1008

B.A./B.Sc. 3 Semester (Batch 2022-25)
COMPUTER SCIENCE
(Computer Oriented Numerical & Statistical Methods)

Time Allowed—3 Hours] [Maximum Marks—75

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions
carry equal marks.

SECTION—A

1. Which are non-linear equations ? What is their use ?
Explain the algorithm of Newton Raphson method.

2.  Why false position method is used ? Draw its comparison
with bisection method.

SECTION—B

3.  Write and explain the Guass Siedel method for simultaneous
solutions of equations. Compare it with Guass Jordon
method.

4. Test for consistency of the following equations and if
consistent find the solution :

X—-y+z=3
2x +y—-z=2
X+ 2y —2z=-1
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SECTION—C

5. Using Lagrange's method of interpolation find number of
workers earning between Rs. 30-40 from the data given
below :

Earning (Rs.) 15-20 20-30 30-45 45-55 55-70
No. of workers 3 97 110 183 140

6. (a) Calculate integration of following function using
4
Simpson's rule : L x’ dx

(b) The function f(x) is given below. Determine the
integral of f(x) between x=0.1 to x=1.0 using
Simpson's 3/8 rule.

X 01 02 03 04 05
Y 1.001 1.008 1.027 1.064 1.125
X 06 07 08 09 1.0
Y 1216 1343 1.512 1.729 2.0
SECTION—D

7. Which are various measures of Central Tendency ? Write
merits and demerits of any three.

8. (a) What is correlation ? What is its use ?

(b) Calculate correlation between following data using
Karl Pearson's method.

X: 10 12 24 25 20
Y. 13 17 25 30 10
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Exam. Code : 103203
Subject Code: 1001

B.A./B.Sc. 3 Semester (Batch 2022-25)

ENGLISH COMPULSORY
Paper—ENC-201
Time Allowed—3 Hours] [Maximum Marks—50

Note :— Attempt FIVE questions in all, selecting at least
ONE question from each section. The fifth question
may be attempted from any section. All questions

carry equal marks.
SECTION—A |
1. Do as directed : 10
(a) Put in the correct word :
This tea tastes a bit (strange/strangely)
(b) Putin ‘so’ or ‘such’ or ‘such a’ :

He always looks good. He wears nice

clothes.
(c) Make one sentence of the two using ‘too’ or ‘enough’ :

We couldn’t climb over the wall. It was too high.

The wall
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(d)

©)

- ®

©)

(h)

@

0)

Complete the sentence using a comparative form :
It is a shame you live so far. | wish you lived

Rewrite the sentence to include the word in the

brackets :

Clare is very generous (always)

Make a new sentence using ‘not ......... even
words given in the brackets :

[ can’t remember anything about her (her name).

I

Make one sentence from two. Use word(s) in brackets
in your sentence :

They have very little money. They are happy. (in
spite of)
They are

Put the parts of the sentence in correct order :

(we/easily/the game/won)

Complete the second sentence using ‘as

---------

bl

as’.
My salary is high, but yours is higher.
My salary isn’t

Put in ‘good’ or ‘well’ :

You did in your exams.
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N

Do as directed :

@)

(b)

(€)

(d)

e)

()

@)

10

Put in the correct word :

[ always feel when I see the sun rising

(happy/happily).
Put in ‘good” or “well™ :

[ play tennis, but I am not very

Complete the second sentence using ‘as .........
as’ :
You know a bit about cars, but I know more.

You don’t know

Rewrite the sentence to include the word in the

brackets :

Do you watch TV in the evenings ? (always)

Use your own idea to complete the sentence :

I like hot weather as long as

Put in ‘for’ or ‘during’ :
[ waited for you half an hour and decided

that you weren’t coming.

Put the parts of the sentence in correct order :

(again/that question/don’t ask/please)
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(h) Complete the sentence using a comparative form -

Your work isn’t very good. I am sure you cap do

() Make one sentence of the two using ‘too’ or ‘enough’ -
[ can’t explain the situation. It is too complicateq .

The situation

() Putin ‘so’ or ‘such’ or ‘such a’ :

I couldn’t believe the news. It was | shock.
SECTION—B
3. Write an essay on any ONE topic : 10
Adolescent Children and Gadgets or Summer Vacation.
4. Do as directed : 10
(@) Fill in correct preposition in the following
sentence :
[ am not ashamed what I did.

(b) Fill in correct preposition in the following sentence :

Kate is very fond her younger
brother.

(c) Fill in correct preposition in the following
sentence :

Are you still upset

y what I said to you
yesterday ?
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() FHEin correct preposition in the following sentence

Why are you so rude peaple 7 Why

can’t you be more polite 7

(e)  Complete the following sentence using a verb v “aviay’
or "back’ ;
I haven't seen our neighbours for a while, | think
they must

(f) Complete the sentence using ‘in’ or ‘into” or
‘out of "
We checked  the hotel as soon as we
arrived.

(g) Change the underlined word. Keep the same meaning,
but use a verb + ‘on’ or ‘off” :
We did not stdp to rest, We continued walking.
We did not stop to rest. We

(h) Complete the following sentence using a verb (in the
correct form) + down
The train as it approached the station.

(i) Complete the second sentence using the word in
brackets in correct form :
A : The fridge isn’t working.
13 : That’s because you haven’t (plug).
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(G) Use your own ideas to complete the sentence. Also

use appropriate preposition :

Chris prefers basketball

SECTION—C

5. How does Shelley treat the bird as a model for the poet
in the poem “To A Skylark” ? 10

6. From the reading of the poem, “Ulysses,” what impression

do you gather about Ulysses ? Is he a heroic
character ? 10

SECTION—D

7. (a) On the basis of your reading of “Global Health,”
please describe how easy is it to get accurate information
about malaria deaths and who are the people who

most frequently die from malaria ? 5
(b) Give one word/words for the definitions below : 5

(1) To cause something to continue

(i) Related to thinking

(1) To reproduce

(iv) To focus on

(v) General direction of changes or developments
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. (@ O ' : :
8. (a) n the basis of your reading of “Multicultural
Societies”, please describe, how has globalization

affected cultures in different countries ? 5

(b) Complete the passage using a;ﬁpropriate word or

phrases out of the given options : 5

Contemporary, Unrest, Mobility, Deport, Prospects,
Unstable, Unskilled, Take advantage of, Secure, The

casec.

When people are unhappy with the government and
there is political (a) , the economy
often becomes (b) as well. When this

happens, in some countries, the government may

(¢) the situation and decide to

(d) foreign workers. The government

may claim that these steps are necessary in order to

provide jobs for citizens and to keep the economy

(e)
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Time Allowed—3 Hours]

Exam. Code : 103203
Subject Code: 1002

B.A./B.Sc. 3" Semester (Batch 2022-25)
PUNJABI (Cﬂmpulsory)

[Maximum Marks—>50

32 :— J9d 39 9" We-ue fex yns ot 9z age

Jg, d% UH YAs a9 | YA ymas fan/ 2t 3791
9 aI3™ 77 AGeT J | AT YHST & wig 53753
T

ga—8
‘wg v furg’ fegu T A9 oy
‘“Uramg T Afgngrg’ fady v a& Uy fomms a3 |
FTI—nf
‘vs femsdt” fextat v fem-eR3 mume &9
‘Ao’ feafat € Q€ U39t &% AE-uzE
FIE|
FI—F |
J5 fed U3 & AUy 99s J9d dae fAadY
fog
893 A foH HIw-nurarst € o, fAgT e Ay
A2d &% YWH 3| yge a3t fdg I8 &dF As,
& d8 Ag Judhft A3at A | fer &t Ae9 9
H3d&S JuT HtI I®%z sfamr gwrat 3T Ihoff

102(2123)/IH-11516 1 (Contd.)



e
8.

FERIST i3 feg wmud W & rasd I
3 ‘f%’%amﬁﬂwﬁwé’u?ﬁf@
3t 593 éwﬁﬁ@mluﬁmﬂfﬁ@?é

Far gar I A HeT .
5 fmy 03 o mEe-AT UT gUE A9
aaw@ﬁwﬁﬁﬁ’aﬂn@ﬁ”ra*@?ﬂ%ﬁm
Www%ﬁaﬁﬂ?ﬁﬁaﬁﬁwﬁﬁ
—grrg & midE He FeR 9 w9 fUst 89 #3
WFWWWalﬁ@Wﬁ
?mﬁﬁﬁﬂﬂﬁga@?@af&m@ﬂmﬁ
waH © B3 Jof It AY 5|

gTI—H
o5 3 Gues % Gurdst &8 WURC 9|
mae ot Jer 9§ 3 feg faal yad € J€ I6|

102(2123)/1H-11516 2 23000




